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PART - A : ENGLISH

Choose the correct “Question Tag’ :

Nothing is impossible.

(1) is it ? (2) isn’t it ? (3) is they ? (4) are they ?

Choose the correct ‘Simple Sentence’ for the given sentence :

The criminal removed all traces of his crime. He left the building.

(1) The criminal removed all traces of his crime and left the building.
(2) Removing all traces of his crime, the criminal leave the building.
(3) Removing all traces of his crime, the criminal left the building.
(4) Removing all traces of his crime the criminal leaves the building.
Choose the correct ‘Passive Voice™ for the given sentence :

Why don't you teach the students ?

(1) Why are you not taught by the students 7

(2) Why were the students not taught by you ?

(3) Why the students are not taught by you 7

(4) Why are the students not taught by you ?

Choose the cor'ré:ct ‘Degree Sentence’ for the given sentence :
Temperature is one of the most important physical factors.

(1) Very few physical factors are more important than temperature.
(2) Very few physical factors are as important as t.emperature.

(3) Very few pﬁysical t-"actor is more important than temperature.

(4) Very few physical factor is as important as temperature.
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Choose the correct use of ‘Though’ in the following sentence :

Sudhir is dull. He studies hard to get good marks.

(1) Though Sudhir is dull, he studies hard to get good marks.
(2) Though Sudhir is dull but he studied hard to good marks.
(3) Though Sudhir is dull, he study hard to get good marks.

(4) Though Sudhir dull, he studies hard to get good marks.
Choose the correct ‘Rhetorical Question® for the following sentence :
Piu decided to hide in her office.

(1) Doesn’t Piu decide to hide in her office ?

(2) Don’t Piu decide to hide in her office 2

(3) Didn’t Piu decide to hide in her office ?

(4) Did Piu decided to hide in her office ?

Choose the correct ‘Exclamatory’ sentence for the given sentence :
The task has been very laborious.

(1) How laborious has been the task !

(2) How laborious the task has been !

(3) How has been laborious the task !

(4) How has laborious the task been !

Choose the correct ‘Ir;direct Speech’ of the given sentence :

John said to the man, “Are you her Jriend ?”

(1) John asked the man if he was her friend.

(2) John asked the man if he was her friend ?

(3) John asked to the man if he was her friend.

(4) John asked the man if he is her friend.
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10.

11.

12,

Name the underlined ‘Clause’ in the given sentence :

Note it properly lest you may forget all about it.
(1) Adverb Clause of Reason

(2) Adverb Clause of Result

(3) Adverb Clause of Purpose

(4) Adjective Clause

Choose the one which best expresses the meaning of the given word :

‘Apogee’
(1) Climax (2) Beginning
(3) Middle (4) Bottom

Choose the word ‘Opposite’ in meaning to the given word :

‘Perverse’
(1) Compliant (2) Fraction
(3) Intractable (4) Obstinate

Identify which part of the sentence has an error :

One should make / his efforts if one wishes lo achieve /
A B

success in this orgeanisation. / No error

& D

(1 A (2) B (3 C
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13.

14.

15

16.

17.

Choose the one which can be substituted for the given sentence :
‘A post without remuneration’

(1) Voluntary ‘ (2 Sinecure

(3) Honorary . (4) Involuntary

Choose the one which best expresses the meaning of the given idiom :
‘To keep the ball rolling’

(1) To earn more and more

(2) To work constantly

(3) To keep the conversation going

(4) To make the best use of it

Choose the ‘Correctly Spelt” word :

(1) Bouquete (2) Bouquet

(3) Boquet (4) Bouquette

Pick out the word that is either most nearly the same in meaning or opposite of the

given word :

‘P}fvy' |

(1) Dishonest (2) Quiet

(3) Cautious . (4) Secretive

Choose the ‘Grammatically Wrong® sentence in the following :
(1) Apples are sold by a dozen.

(2) The captain with his soldiers was killed.

(3) Why did you absent yourself from your classes ?

(4) He cut his hand with a knife |
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18.

19.

20.

21.

22.

23.

24.

25.

Identify the ‘Figure of Speech’ in the following :
simple, erect, severe, austere, sublime.
(1) Repetition (2) Synecdoche
(3) Litotes (4) Climax
Choose the correct ‘Preposition’ :
We are accountable — God for our actions.
(1) at (2) for (3) to (4) in
Choose the correct “Article’ :

declaration of Independence was drawn up in 1776.
(1) A (2) An (3) The (4) No article
The young one of a dog is a puppy. The young one of a hare is
(1) Leveret (2) Kid (3) Cygnet (4) Foal
The cry of a duck is ‘quack’. The cry of a pig is
(1) hoot (2) coo (3) squeal (4) lisp
The diminutive of the book is a ‘booklet’. The diminutive of a river is
(1) Reticule (2) Rivulet
(3) Ringlet (4) Streamlet
The phobia about air is aerophobia. The phobia about old age is
(1) gnosiophobia (2) pyrophobia “
(3) aglophobia (4) geraphobia
Identify which part of the sentence has an error :

One _of the most / widely spread bad habit /

A B
is the use of tobacco. / Ne error
C D
(1) A (2) B (3) C (4) D
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Read the following poem and choose the most appropriate answer :

26.

27.

28.

The earth was green, the sky was blue;
| saw and heard one sunny morn
A skylark hang between the two,
A singing speck above the corn.

A stage below in gay accord,
White butterflies danced on wing,
And still the singing skylark soared,

And silent sank and soared to sing.

The cormnfield stretched a tender green
To right and left beside my walks;

I knew he had a nest unseen,
Somewhere among the million stalks.

And as | paused to hear his song
While swift the sunny moments slid.
Perhaps his mate sal listening long
And listened longer than I did.

The skylark sang when

(1) it rained

(2) the sun shone

(3) the earth was green and the sky without clouds

(4) there were clouds

The skylark while singing looked like =

(1) a star (2) an insect
(3) an eagle (4) a small dot
The skylark rose upwards and upwards :

(1) while flying

(2) while singing

(3) while looking

(4) while looking downwards
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29.

30.

The nest of the skylark was :

(1) 1in the fields below

(2) beside other nests

(3) among the numberless stems of corn
(4) among trees

The word ‘Paused” means :

(1) stopped (2) stood erect (3) flew across (4) went straight

OR
[Q. NOS. 1 TO 30]
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- 10.

11.

12.

13.
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18.

19.
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